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WEAEERFROLREE (FR25F1A1H~)

o 1E Al X IE %
FRBEIAEEE R E S IEREE N5 SEREE
~1,625,000HLLTF 655 H Eba
1,625,000 8 ~ =
SN &% %
1,800,000 L1 F IR A 28 x 40% "
1,800,000 #8 ~ =
SNl &% %
3,600,000/ LLF IV A% %8 x30% + 180,000 I
3,600,000 #8 ~ -
SNl &% %
6,600,000/ LLF IV A £ %8 x 20% + 540,000M » I
6,600,000 #8 ~ =
7 % %
10,000,000 L1 F IV A% %8 x 10% + 1,200,000 I
DN
12’888’8882%1? IRAEZE X 5% + 1,700,000
— IR AL %E x 5% 4+ 1,700,000
15,000,000 #& 2,450,000 (EE$TH)
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<G5 LRRFAFH>

BADERBINRERNIENDYET , AIEDERIESINAEFEN1,5005AZEZS

HR(=AI25FAZBASER)ZEOEDLYET,)
<$REN (FFEELORMBLLE) ERRATER >

#HREN 10,000 CRIREE ) DIHE

REN R R AT 1SR 10,000 x ©®110.21% = 1,021H
bk Nt ] 10,000 — 1,021 + ;E&F500M = 9,479
*1)10%+ {5 EIEFT (10% % 2.1%) =10.21%
<FEEFBELBERASHHR>

JEEFIE 10,000HDIBE

FERRERATSER 10,000 x *215315% = 1,531H
BEFERHRAFZ 10,000 x 5% = 500M
AEEEE 10,000 — (1,531 +500M) = 7,969

(+2)15% 4 8 £ (15% X 2.1%) =15.315%

WOT. AEREIHEEFIREERITIHEE . ROIIIHGYFET,

AEEE - 9079685 = FEEFI
*3)1—(0.15315+0.05) =0.79685
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